A Area: 4.6e” Height: 1.0e7

1.867

B Area: 1.3e8 Height: 2.1e5

21
2008
1966
1865
1766
1660
1508
1406
1306
1256
treg
1068

Intensity

e
i
7066
60es

21 22 23

Time, min

|

.949
3 a1 aF a3 a4 %% 96 57 98 90 40 A1 42 43 4% 4% 4% 47 48 45 5b

2% 25 25 27 25 23 a0 w1 a2 a5

C Area: 6.8e5Height: 1.1e5

oses

o0e4

a0e

750

eset

Intensity
g

76

K
5 26 2y 28 20 a0 o1 sz ah a4

27 26
Time, min

=

D Area: 6.6e* Height: 1.1e*

e
9501
90
850
800
750
706
6501
60a3

Intensity

S5
s
a5
a0
350
a0
25034

Time, min

|

E Area: 3.3e*Height: 6.1e3

600

sa0

a0

a0

a0

Intensity

200

200

200

=

Py

Time, min

B

937
R I - I S A )

[2.927

T3 8 16 16 17 12 19 20 21 22 23 24 7%

2%

77 2%
Time, min

20

30 a1 3z ab  as a5 26 a7 98 29

Number

Concentration (ng/mL)

Area

A

500
400
20

4 .6e’
1.3e7
6.8e5



6.6e4 1.1e4
3.3e4 6.1e3




